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Last week we had a problem with a mate in 7.  This week it’s mate in 8.  Don’t be daunted.  Like last week there is only one variation and if you work out the one thing White needs to ensure one of two possible mates the simple solution runs like clockwork.  White to play and mate in 8 (V L Eaton 1939):
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Many chess players will have noted the absence of Classic World Champion Vladimir Kramnik from tournaments this year.  He has been suffering for some years from a form of arthritis which affects the spine and sacroiliac joints and can cause inflammation of eyes, lungs and heart valves.  Fortunately he has improved sufficiently to resume serious chess and is gearing up for a possible 12 game World Championship Reunification Match with FIDE champion Veselin Topolov in Kalmykia as well as a short match against Deep Fritz in Bonn (prize fund $1m US).

Today’s game is one which had a marked influence in the chain of events which caused the schism in World Championship chess.  It was the final game in the match to decide the challenger to Gary Kasparov.  The winner, Englishman Nigel Short, joined forces with Kasparov to disobey FIDE’s venue directive and then set up of the Professional Chess Players Association in opposition to FIDE.



NIGEL  SHORT   -   ANATOLY  KARPOV



1992 World Championship Candidates Final, Game 10



Sicilian: Richter-Rauzer Attack



 1    e4  
c5(a)  


 2    Nf3  
Nc6



 3    d4  
cxd 


 4    Nxd4 
Nf6



 5    Nc3  
d6  


 6    Bg5 
e6



 7    Qd2 
Be7 


 8    0-0-0 
0-0



 9    Nb3 
a6 


10   Bxf6 
gxf6



11   h4(b)  
Kh8 


12   g4  
b5



13   g5  
b4  


14   Na4(c) 
Rg8



15   f4  
Rb8 


16   Kb1 
Bf8



17   Be2 
e5


18   f5!(d)  
fxg



19   hxg 
Rxg5(e)

20   Qe3 
Qf6



21   Nb6 
Ne7


22   Nxc8(f) 
Rxc8



23   Bxa6 
Rd8 


24   Qb6 
Ng8



25   Na5(g) 
d5! 


26   Nc6  
Rd6



27   exd 
Ne7 


28   Qxb4 
Nxd5!



29   Rxd5(h)
Qg7


30   Rxd6!
Rg1+

31   Rd1 
Rxd1+     

32   Rxd1 
Bxb4  



33   Nxb4 
Qg4 


34   Rd8+ 
Kg7(i)

a)  Karpov hardly ever played the Sicilian (‘playing the Sicilian is like starting a boxing match before climbing into the ring’ – Korchnoi) but in the final game a point down he must win to stay alive.

b)  Although only needing a draw Short sensibly plays aggressively.

c)  The knight is out on a limb but it puts an end to Black’s queenside attack.

d)  A strong pawn sacrifice.

e)  19…Qxg5 was better (20 Qd5, Nd8  21 Rh5 / 22 Rdh1 with a strong attack).

f)  Overlooking 22 Bxa6! (22…Bxa6  23 Nd7).

g)  Safer was the blockading 25 Rd5.  With time trouble looming Black now takes the opportunity to muddy the waters.

h)  A mistake as Black can play 29…Rxd5  30 Qxf8+, Rg8  31 Qe7, Qh6!! (not 31…Qxc6  32 Qxf7 mating) 32 Rf1 (32 Rc1? Qxc1+!) 32…Qxc6.  However Short claimed he would have met 31…Qh6 with 32 a3!! maintaining the attack despite the double exchange deficit.  Black’s chosen move wins White’s queen but at too great a cost.

i)  White could conclude elegantly with 35 f6+! when 35..Kh6 leaves Black tied up while if 35…Kg6  36 Rg8+ or 35…Kxf6  36 Nd5+, Kg7 (36…Kf5  37 Bc8+) 37 Rg8+! Kxg8  38 Nf6+.  The game concluded 35 a3, Qxf5  36 Rd1, h5  37 Re1, Qe6  38 Bb7, f5  39 Bd5, Qf6  40 c4, e4  41 c5, resigns. 

Foundation Day Tournament (6 round WA Grand Prix event) will be held June 3-5 at Legacy House, S. Perth.

SOLUTION:  White wants Black to move either bishop allowing Rxh2# or Rxg1#.  Black is in virtual zugzwang except for the threat 1…Bd4#  2…g1=Q.  Clearly White must prevent this check so 1 Kg8.  After 1…Bc4# 2 Kf8 Black must return to c1 with the bishop allowing White’s king slowly to escape the checks (2…g1+Q?  3 Rxh2#) – 2…Bc1  3 Ke8, Bb5+  4 Kd1, Bc1  5 Kc1, Ba6+  6 Kb1, Bc1 7 Ka1 (now safe from checks) 7…Bd3 8 Rxh2# or Rxg1# and if say 7…Bd4  8 Rxh2#.  An apt name for this problem might be The Long Promenade or The Long Walk. 

